c:\myfiles\pw_production\dms67488\Std.619-3.DRAFT.dgn [Metric]

15 October 2014 3:43 PM

SHEET

STATE PROJECT NUMBER|
B C <—| D <—| 2225
Units are furnished as required by specified cattle guard width 450 450
150 i 1.8 m End unit L 1.8 m or 2.4 m interior unit L 2.4 m End unit ‘i 150 140140 140140 NOTE:
= = i \ 1. See Standard M619-1 for reinforcing steel size
Rails l/l | | | | | | | | | | | | - |/4| T Spacer (typ') TN ' and grade.
(typ.) — | H - \\ ‘ "%'i i )
| ( i ¥ 4 - B3 Bars as shown ‘ o 2. See Standard M619-1 and 2 for cattle guard wing
AN vV L 38 x 3"9 ‘ g‘ details. Fabricate end units to accommodate
\ selected cattle guard wing.
A e W 200 x 27 x 6.4 < / I ~
] ) (typ.) [ i i i 7 i i 7 a g 3. Minimum soil bearing 19,500 kg/m2. Place units
[ | \ ‘\ N P ‘ ‘ — NS in fine aggregate bed 75 mm thick over hand
— — * L X X T S leveled soil compacted to not less than 95% density.
<N
' T T 6 - B4 Bars at 275 | N a 4. Chamfer exposed concrete edges 20 mm unless
! — ! \ Key between units 100 | ™ é otherwise shown. Give all concrete surfaces a
\\| = | ( (See Key Detail) —] ||| - W r Key between units i \ Class 1 finish.
] \ L = " ) \ ) (See Key Detail) ‘ 5. Approved alternate designs may be used.
N1 ||| [] [ ] [ ] [1] [] [ ] ‘ 6. Dimensions without units are millimeters.
: i i i i i i - 450 |150 1025 150 450 |
! ! ! 3 spacers at 500 ! ! ! ‘ ‘
_ 550 | 3spacersat | 400 | 400 for 1.8 m units _1.400 | 425 | 4 spacers at 525 | 550 | SECTION B-B PRECAST CATTLE GUARD
\ \ \ \ \ \ -
500 410 4 spacers at 225 415 REINFORCING STEEL AND CONCRETE
. PLAN No. of BAR MASS | CONCRETE
B <J C <J D <J - 2225 . UNIT BARS | MARK LENGTH kg m3
4 - W 200 x 27 at 500 350 1525 . 350 7 B3 2100 14.6
) . B I I -
300 4-w Zocc))ox 27 300 ;irzlo.(;? mzL;n/ts i 300 5-W200x27at525 _ 300 140 | | 140 10 B2 1850 18.4
190 95 140 2~ x27at 525 140 140 ‘ ‘ 1.8m 8 B1 425 | 3.4
140 | ™ ~— 140 - — for 2.4 m units 140 | ™ ~— 140 | ™ ~— * 1.40
— | 20 AN 1 S E LA S 5l 5o F- — \ ] END 6 B4 650 | 3.9
- - > > — YT - T — =}
g f | QT R 18 | B6 | 1750 | 31.3
It [ I [y | SIE-Y 6 B5 900 5.4
. o~ l-----_3J T [ O A | ~ N X
St NIiEviEViEENiSvisviEviIwvinviNvIinwIn | H & 8 | B3 | 2100 | 167
A ; ; s ; i ; 107 ; : ; NG 10 B2 | 1650 | 16.4
LIV L ¢ % i N | L i s (t35) * L i 1 b 18m "2 | B4 | 650 | 7.8 1.41
n ola B3 Bars as shown yp. INTERIOR
N B3 ‘ }‘ NN 54 gars ot 225 (typ.) " 0l 18 | 66 11750 | 31.3
~ 1 3 - B3 at 200 NS 8 B5 900 7.2
. N—
L B3 Bars at 200 (typ.) B5 Bars as shown (typ.) 175 x 125 x 9.5 elastomeric I B5 Bars (typ.) 8 B3 | 2100 | 16.7
B1 Bars at 225 (typ.) bearing pad under W 200 x 27, & 2 54 10 B2 2250 | 22.4
o & 4m
B5 Bars as shown (typ.) SECTION A-A bond pad to conc. (typ.) B S 1025 ‘150! 450 INTERIOR 12 B4 650 7.8 1.73
© SECTION D-D 20 B6 1750 | 34.8
£ i 8 B5 900 7.2
<—' Qs 7 B3 2100 | 14.6
- 2225 - M20 x 500 bolt | " E 10 B2 2450 24.4
w/ nut & washer (typ.) i 1 .
140 149 L 38 x 38 x 6.4 w/M10 welded 149,149 i /;—$ 24m | 8 BL | 425 | 3.4 172
10 studs on 300 centers (typ.). 10 A - 5 END 6 B4 650 3.9
i Weld studs to angle with full B i Y o 350 20 B6 1750 | 34.8
tration butt weld (typ. 75 et 4° draft :
penetration butt weld (typ.) T~ el (typ.) | 6 B5 900 5.4
A O O 0 000000 e B 1
~ A N ! ’ N P & ' - ' P e - ' v :
) e 50 x 50 x 9.5 P A LLa e e s ! 175
q > | :
> | W 200 x 27 neoprene pad ol - 305 for ASCE 40 rail b et Q st e | 125 v\
ST 290 for Type I F -a 9 RS IR \B
B —~ .
2 a4 175 x 125 x 9.5 elastomeric bearing pad 8 ¢ and Type II rail SECTION E-E ~[125 |~ 9
19 under W 200 x 27 bond pad to conc. (typ.) SIS PLAN 125 350
] M20 ferrule loop inserts 4 per unit (typ.) § B4 B6 B5
B6 Bars at 250 (typ.) - BAR BENDING DETAIL
B2 Bars as shown (typ.) Cr I>~— M20 A 307 threaded rod w/ washer B @‘7 - ~ g
. (f}/p,) 8 & 2-hex nuts. Galvanize all parts. L 38 x38x6.4 ~ U.S. DEPARTMENT OF TRANSPORTATION
P— \ Hand tighten first nut. FEDERAL HIGHWAY ADMINISTRATION
: Lock with second nut. FEDERAL LANDS HIGHWAY
! 450 \ 1325 \ . 75 METRIC STANDARD
100 long M10 anchor stud. 45 350 CATTLE GUARD
Space anchors at 300 centers. Weld o
SECTION C-C to angle with full penetration butt weld.
Galvanize each assembly after fabrication. ELEVATION PRECAST FOUNDATION
GUARD ANGLE DETAIL KEY DETAIL NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
REVISED: 11/1997 6/2005 M619_3
DRAFT: 6/2008




	FLH Standard Drawings
	619-3: Cattle Guard Precast Foundation
	Metric
	US Customary



	NPS: 
	Project: 
	State: 
	M619-3: 


